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1 Introduction

On page 47 of NFCM [1], we need to prove the following relation

〈a ∧ bc ∧ b〉2 = (a ∧ b ∧ c) · b . (1)

2 Solution

My approach will be to expand both so that they will meet in the middle.

(a ∧ b ∧ c) · b = b · (a ∧ b ∧ c)

= b · ab ∧ c− b2 a ∧ c+ b · c a ∧ b . (2)

Now,

〈a ∧ bc ∧ b〉2 = 〈(ab− a · b)c ∧ b〉2
= 〈(ab)c ∧ b〉2 − a · bc ∧ b

= 〈a(bc ∧ b)〉2 − a · bc ∧ b

= 〈a(b · c ∧ b)〉2 − a · bc ∧ b

= 〈a(b · cb− cb2)〉2 − a · bc ∧ b

= b · c a ∧ b− b2 a ∧ c− a · bc ∧ b

= b · c a ∧ b− b2 a ∧ c+ b · ab ∧ c . (3)

Since this last result is the same as the last result of (2) then have demonstrated what we needed
to show.
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